55—t P—

Z—WQ : ‘,r - A '

ERI\IRFERS

Pre-fill (flange-clamped type) BRI Low-pres. side

R[] Piot port

=EAl ! High-pres. side

O




ro TWONA o

BRI\FAFREE zerapBdEres)
Pre-fill valves (flange-clamped type)

AR RIREECE Pressure Rating
| Suction Side Pipe 20kg/cm?2
| T
B 4 p— 00
| | KB RIERE FGT
i | ' Low-pres Side Flange
] | BRIVFA TR
| @\ _ SVF/SCF/SPF
i | i Pre-fill Valves
| SEALER FGP
High-pres. Side Flange
S BR[#Z5E
JHEL , _ SPA
Cylinder ’ | Pilot Port Adaptor
\ HELRISBEE Pressure Rating
Cylinder Side Pipe 400kg/cm?
AL SR [ RE — ——BANLZK/ERE

RINTEFRRE mmEms (zpas)
L

SVF/SCF/SPF ,(j:

<
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
-
o
N

=

As?ent ?E?‘_l
e [ I I

TR

Descent _

AR

g()’
=

%3
<3
o
%3
o
©

Y

7
%3
o
o

@@

TBEIRIR Rapid Descent Suction
TFEDNE Pressurized Descent \/ \/ 2l Closed
H7IRE Clamping V/ EtHF Timing s Closed
ERENE Ascent v ERYEH Piloted open

&




39

52'5%:??@%?%

BRIR

- Et+I=

= ?
@B T OE OF

aT ‘

BRNFEFER EBEBEYSE Pre-fill valves Ordering Code

S g F - 1 g}o - 1 %’,}C 0 RUgEModel 9 i1 Size e a2t E¥Design Letter

RRIgEIERRE

v | o8 oo Loc Lon [ ot Loe Lor e L Lv Ly

SPF-125 170 128 183

SPF-160 220 250 367 422 158 120 310 73 105 218 43
SPF-200 280 310 442 496 197 145 394 88 120 286 48
SPF-250 340 375 515 570 247 177 462 105 140 372 52

BTN RARE EFRE BRLE ERRIRHR [ ={ MY M=
Model Flow Qmax (L/min) |Oper.Pressure Pmax. (Bar)] Pilot Ratio Bolts Pipe Size Weight (kg)
6" 38

SPF-125 2500 M20x110 163=

SPF-160 4000 400 4.2 M30x120 16>z 8" 110
SPF-200 7000 280 4.4 M30x130 20z 12" 134
SPF-250 15000 250 4.4 M30x140 20z 14" 270

&




e I @WAY o

\

SRAL

RINFEFER Pre-fill (flange-clamped type)
— G —

<—F—>

SVF 1 OO 21 C oﬁzﬁféMOdel @ iigsize @ 52EHERIDesign Letter

®

SVF-32
SVF-40
SVF-50
SVF-63
SVF-80
SVF-100
SVF-125
SVF-160
SVF-200
SVF-250

SIEBUE Specifications

RAME EFREEN ERLE
Flow Qmax (L/min) OperPressure Pmax. (Bar) Pilot Ratio

2

Model
SVF-32
SVF-40
SVF-50
SVF-63
SVF-80
SVF-100
SVF-125
SVF-160
SVF-200
SVF-250
SCF-32
SCF-50
SCF-63
SCF-80
SCF-100
SCF-125

@ O

RY%* Dimensions(mm)

ey JJeofenflesflon s = o e [ a

SCF-32 48
56.5
SCF-50 72
SCF-63 87
SCF-80 108
SCF-100 130
SCF-125 170
218
272
350

160
250
400
630
1000
1600
2500
4000
7000
15000
160
400
630
1000
1600
2500

73
90
105
130.5
155
200
250
310
398

91
112
125
150
185
226
284
855
445

400
400
400
400
400
400
400
280
280
250
250
250
250
250
250

108
128
143
169
210
248
310
390
490

SCF

39
42
50
57
70
89
120
145
176

3.3
3.8
4.2
4.3
4.3
4.3
4.2
4.1
4.4
3.6
3.8
4.2
4.3
4.3
4.3

28
29
335
38.5
44
51
70
95
110

32 to 250
32 to 125

SVF:&x&ifilSCM4

71.5 62
91 62
106 62
115 62
150 62
195 62
230 70
300 85
390 85

SRR

Bolts
M16 x
M20 x 4%
M16 x 632
M16 x 832
M20 x 83z
M25 x 105z
M25 x 165z
M30 x 163z
M30 x 203z
M30 x 243%
M16 x 43z
M16 x 632
M16 x 83z
M20 x 83z
M25 x 103z
M25 x 1632

SCF:IXZEFCD50

B EIE m

Fixed Bolts
PT1/4" 1517-6
PT1/4" M4x30 1517-9
PT1/4" M4x30 1517-14
PT1/4" M5x35 P95
PT1/4" M5x40 P120
PT1/4" M6x45 P145
PT1/4" M6x60 P185
PT3/8" M8x70 R235
PT1/2" M10x95 P295
PT1/2" M12x115 PE7S

REE

Pipe Size

2.5B
3B
3.5B
4B
5B
8B
10B
12B
16B
2B
3B
3.5B
4B
5B
8B

RE
Weight (kg)
1.3

2.2
2.9
4.5
6.2
12.3
23
50
85
156
1.3
2.9
4.5
6.2
12.3

23N
Ny




FGTIRERIER FGPEEIER
] @D ac K
oF ' oE '
o8 | ———on——| I
M G M
H H & .
7B
oA OF
acC @D
32~100 ZFRWESSRY
254 Model mmann““
P oMol 135 1032  60.25 4918
FOPAOM202.38 165 130 77 57 91 107 42 15 2M4 4922
PP o MiosE 180 146 90 72 112 128 42 15  2M4 6018
FOPOIMISNSB 195 161 1022 67 125 143 5247 15  2M5 8-018
el Ve 230 192 1152 108 150 169 5247 15  2-M5 8-@22
FOPI00M2SSB 280 239 141 130 185 210 6862 25  2M6 10027
FOTERRAZE FoPEEEEE
@D [%]0)
oF | oF K
oB . oA i
y M G ] i
4 7 G
B
oA 2 oF
acC @D
125~250 TRSERY
S Te o T Lo Lo T L T T T
,Eg-'? 12512588 2192 77/67 2-M6  16-027
FOPIRoMSOIOE 422 367 2731 218 284 311 8777 30  2M6 16033
FOP-200MS0N2B 510 442 324 270 385 391 9787 30  2-M10 20-033
FOP-250-M30M6B 630 555 407 350 445 492  107/97 30  2-M12 24-033

7\
Y%

2

FGT-250-M30/16B

FGT-100-21C

®

® @

O 255 Vodel @ i1ESizZe ©

EREtE R Design Letter




_"ll 1W Wfﬂ{?

w INFEFERE Pre-fill 1RYEE

1. 288
2. BR A #EERS
3. HESHEL
4. EREFE
5. BEAE
6. {TIZ2E
7. CEY
8. 1Z5E
9. HEEZE
10. IE[OI5EEE
11. ORYE
12. N7 EIEH
13. MBI EIFHH

©



I —_—_——rr

IAI
'Vl

W @%Y ® HYDRAULIC anll T @WVAY ® HYDRAULIC
- S S — c——— .

s T To
e o T\ PR FE RS

e Pre=fill"Valves=
Elange-clamped Type =

RIEEDistributed:

ve
Hj“

www.taicoln.com



